Number of Events

40

30

20

10

3jlmu+1lmu-

Pythia_ref
B Other

1 70:13.8%

1 Z0jj:16.3%
[ 12Z0j:18.3%
] Z0jjj : 35.6%

AR(j2,j3)




Number of Events

80

60

40

20

3jlmu+1lmu-

Pythia_ref
B Other

—

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

L.

M(u*,J2,)3) (GeV)




Number of Events

40

30

20

10

3jlmu+1lmu-

Pythia_ref
B Other

1 70:13.8%

1 Z0jj:16.3%
[ 12Z0j:18.3%
] Z0jjj : 35.6%

+'J—r

[E—

——

—@—

o 2

A
AEta(j2,j3)




Number of Events

40

30

20

10

Pythia_ref

3jlmu+1lmu- B Other

[

BT
l-l_ll_f_ll

71 70: 13.8%

1 Z0jj:16.3%
[ 1Z0j:18.3%

1 70jjj : 35.6%
| _

[

0

atan2(APhi(j2,]3),+-(j2 eta-|3 eta))




Number of Events

60

AN
)

N
o

_ Pythia_ref
3 Imu+lmu- B Other

1 70:13.8%

1 Z0jj : 16.3%
B | [ 1Z0j:18.3%
] Z0jjj : 35.6%

M(j3) (GeV)

- N
| I
Tlr bl
__-_\
T L | ]
T (]
L 1L
MR T ] S
15 20 25




Number of Events

100

U1
o

3jlmu+1lmu-

e Pythia_ref
B Other

I 70 : 13.8%

] Z0jj : 16.3%
[ ]Z70j:18.3%
] Z0jjj : 35.6%

M(u*,)2) (GeV)




Number of Events

N
)

N
)

3jlmu+1lmu-

Pythia_ref
B Other

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

B X
i \& il
0 4 6




Number of Events

100

U1
o

3jlmu+1lmu-

Pythia_ref
B Other

I 70 : 13.8%

] Z0jj : 16.3%
[ ]Z70j:18.3%
] Z0jjj : 35.6%

Trg-%..}'lt@— L o] e

0 200

400 600 300
M()2,]3) (GeV)



Number of Events

80

60

40

20

3jlmu+1lmu-

e Pythia_ref
B Other

1 70:13.8%

1 Z0jj:16.3%
[ 12Z0j:18.3%
] Z0jjj : 35.6%

AQ(1,)2) (radians)




Number of Events

40

30

20

10

3jlmu+1lmu-

Pythia_ref
B Other
1 70:13.8%
1 Z0jj:16.3%
[ 12Z0j:18.3%
] Z0jjj : 35.6%

-

o_lIII|IIII|IIII|IIII|IIII




_ Pythia_ref
3J1mu+1mu- B Other

Number of Events

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

—

—

T T
T T
T TJ__, _|_T
— —1 | i .I_|_|J' 4 o -

1000
M(p,)2,)3) (GeV)



_ Pythia_ref
3JImu+1lmu- B Other

AN
o

Number of Events
N
o

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

5 10 15
minMass(j) (GeV)



Number of Events

3jlmu+1lmu-

AN
)

N
o

Pythia_ref
B Other
1 70:13.8%
[ 1Z0j:16.3%
[ 1Z0j:18.3%
|1 Z0jjj : 35.6%




Number of Events

150

100

U1
o

3jlmu+1lmu-

e Pythia_ref
B Other

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

M(u*,17,)2) (GeV)



Number of Events

o
)

AN
o

N
o

_ e Pythia_ref
3 Imu+lmu- B Other

- ] 70jj: 16.3%
: __ ] 70j:18.3%
- o ] Z0jjj : 35.6%

71 70: 13.8%

T
I'é‘ll ml- II_I_é_

|
20 30

M(j2) (GeV)



Number of Events

80

60

40

20

3jlmu+1lmu-

Pythia_ref
B Other

—@—i

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

|
TlT T .
l L1 LT T

e ! lT_‘_HIr,T : .
| LA S ade st 4y hdy =

—@—i

1000 1500
M(u*,j1,j2,j3) (GeV)




Number of Events

Pythia_ref

3jlmu+1lmu- B Other
m 1 70:13.8%
i 1 Z0jj : 16.3%
B ) [ 17Z70j:18.3%
T 1 Z0jjj : 35.6%
601 | i
o
40— T -
B i [ w
|
- T ETE
el
Oéﬁlnl|||||| o BT e s 9 W e el
10 20 30 40 50

M(j1) (GeV)



Number of Events

=
-
o

U1
o

3jlmu+1lmu- B Other

e Pythia_ref

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

50 100 150 200
J1p_(GeV)



Number of Events

60

AN
o

N
)

3jlmu+1lmu-

e Pythia_ref
B Other

I 70 : 13.8%

] Z0jj : 16.3%
[ ]Z70j:18.3%
] Z0jjj : 35.6%




80

60

40

3jlmu+1lmu-

Pythia_ref
B Other
1 70:13.8%
1 Z0jj:16.3%
[ 12Z0j:18.3%
] Z0jjj : 35.6%

Number of Events

T I
| I'T] 1 T

111
I .4 3
- |i|£ﬁl¥ﬂjf—*lil |l

—

. | AR VN
500 100 1500

M(u*,7,)2,)3) (GeV)



Number of Events

W
o

g T [ | [ T 1 | I [ | [

N
)

=
o

3jlmu+1lmu-

Pythia_ref
B Other

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

J

MINAR(],])




Number of Events

o
)

AN
o

N
o

3jlmu+1lmu-

Pythia_ref
B Other

I 70 : 13.8%

] Z0jj : 16.3%
[ ]Z70j:18.3%
] Z0jjj : 35.6%

M(p* 1) 1,)2,)3) (GeV)




Number of Events

30

20

10

3jlmu+1lmu-

Pythia_ref
B Other

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

TI—3—

U™ @ (radians)




Number of Events

80

60

40

20

Pythia_ref

3JImu+1mu- B Other
I 70 : 13.8%

- ] Z0jj: 16.3%
- ] Z0j:18.3%
B [ 1 Z0jjj : 35.6%
!

|

B

K:n

M(u*,J1,)2) (GeV)




_ Pythia_ref
3|Imu+1mu- B Other

Number of Events

—
e
—

i

1 70:13.8%

1 Z0jj:16.3%
[ 12Z0j:18.3%
] Z0jjj : 35.6%

—

=

||
|

s
minAR(",j)



Number of Events

200

150

100

U1
o

3)

e Pythia_ref
Imu+1mu- B Other

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

T T




Number of Events

@)
o

AN
o

N
)

3jlmu+1lmu-

)

Pythia_ref
B Other
1 70:13.8%
1 Z0jj:16.3%
[ 12Z0j:18.3%
] Z0jjj : 35.6%

B _H

R

gt

B HI\ 1

_ J T]Il

- géu s T

N T ey g Uity by,
500 1000 1500

M(u',)1,2,)3) (GeV)




Number of Events

40

30

20

10

3jlmu+1lmu-

Pythia_ref

B Other

1 70:13.8%

1 Z0jj:16.3%
[ 12Z0j:18.3%
[ ] Z0jjj : 35.6%

AR(j1,j3)

- B

:“T - TULIT L]

:.T | L | T_HITI 'H
2 4 6




Number of Events

_ Pythia_ref
3Jlmu+lmu- B Other

1 70:13.8%
[ 170jj:16.3%
[ 170j:18.3%
L] ZOjjj| : 35.6%

-

.

==

,_
—

AN



Number of Events

_ Pythia_ref
3Jlmu+lmu- B Other

1 70:13.8%
[ 170jj:16.3%
[ 170j:18.3%
L] ZOjjj| : 35.6%

-

.

==

,_
—

AN



Number of Events

30

20

10

3jlmu+1lmu-

Pythia_ref

B Other

1 70:13.8%

] Z0jj : 16.3%
170 :18.3%
[ ] Z0jjj : 35.6%

|

j1o@(radians)




Number of Events

30

N
o

=
o

3jImu+1mu-

Pythia_ref
B Other
[ 70 : 13.8%
[ Z0ji: 16.3%
] 70j:18.3%
1 20jj:35.6%

L |
|

1

Ag(u”j3) (radians)




_ Pythia_ref
3JImu+1lmu- B Other

o
o

AN
)

Number of Events

N
)

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

|
I

|

—

—_
—_—

R
R

—_

—

—




Number of Events

_ o Pythia_ref

3JImu+1imu- B Other

771 70:13.8%

] ] Z0jj: 16.3%

] Z0j:18.3%
[ [ ] ZOjjj : 35.6%

100/ WL

U1
o

1000

M(u’,)2) (GeV)




Number of Events

60

AN
)

N
o

3jlmu+1lmu-

Pythia_ref
B Other

s

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

600

sumPt (GeV)




Number of Events

_ Pythia_ref
3 Imu+lmu- B Other
1 70: 13.8%

1 Z0jj:16.3%
. [ 1Z0j:18.3%
- . [ ] Z0jjj : 35.6%

40

N
)




Number of Events

_ Pythia_ref
3 Imu+lmu- B Other
1 70: 13.8%
- ] Z0jj: 16.3%
] 70j:18.3%

- [ z0jj : 35.6%

N
)

N
o




Number of Events

40

30

20

10

3jlmu+1lmu-

T
—_

B ——
——

Pythia_ref
B Other
1 70:13.8%
1 Z0jj:16.3%
[ 12Z0j:18.3%
] Z0jjj : 35.6%

O~




Number of Events

80

60

40

20

3jlmu+1lmu-

Pythia_ref
B Other

—

=

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

+ 22
1

1000
M(u*u,j1,3) (GeV)




Number of Events

100

U1
o

_ Pythia_ref
3 Imu+lmu- B Other

71 70: 13.8%

. ] Z0jj : 16.3%

[ 1270j:18.3%
[ [ ] Z0jjj : 35.6%

e 10 ertie | | o [T]

0 200 400 600 "800
M(u*,)3) (GeV)




Number of Events

_ e Pythia_ref
3 Imu+lmu- B Other
1 70: 13.8%
- 1 Z0jj:16.3%
] 70j:18.3%

] ] Z0jjj : 35.6%
100

o)
o

T o

0 50 100
J2p_(GeV)



Number of Events

80

60

40

20

3jlmu+1lmu-

Pythia_ref
B Other

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

|
Tl |

1] !

500 1000
M(J1,)2,|3) (GeV)




Number of Events

80

60

40

20

. Pythia_ref
S)imu+imu- B Other

1 70:13.8%

[ 1Z70jj:16.3%
[ 170j:18.3%
1 Z0jjj : 35.6%

—

IF

500 1000 1500
M(p*,u,j1,j2) (GeV)




Number of Events

_ Pythia_ref
3 Imu+lmu- B Other
1 70: 13.8%
- ] Z0jj: 16.3%
E : 1 70j:18.3%

. 1 Z0jjj : 35.6%
60_ 1) 0

AN
)

N
)

z : '!l
d | |

ro4 8

150

200



Number of Events

30

N
o

=
o

3jlmu+1lmu-

Pythia_ref
B Other

1 70:13.8%

1 Z0jj:16.3%
[ 12Z0j:18.3%
[ ] ZOjjj : 3|5.6%

=

—————

N

Ap(u ,j1) (radians)




Number of Events

3jlmu+1lmu-

Pythia_ref
B Other

30

20

10

1 70:13.8%
] Z0jj: 16.3%
1 70j:18.3%
[ ] ZOjjj : 35.|6%

-

\

[ ——
— k

p

]2 @ (radians)




Number of Events

30

20

10

3jlmu+1lmu-

Pythia_ref
B Other

| I I I I | I I I I |
R —

I 70 : 13.8%
1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

I

05

=
cos(9*) (radians)




Number of Events

3jlmu+1lmu-

40

30

20

10

Pythia_ref
B Other
1 70:13.8%
1 Z0jj:16.3%
[ 12Z0j:18.3%

[ ] Z0jjj : 35.6%

W{ I
*1,[ |
&

o
)




Number of Events

40

N
)

3jlmu+1lmu-

Pythia_ref
B Other

1 70:13.8%

1 Z0jj:16.3%
[ 12Z0j:18.3%
] Z0jjj : 35.6%

————

1
|

AQ(2,]3) (radians)




Number of Events

o
)

N
)

N
o

3jlmu+1lmu-

Pythia_ref
B Other
1 70:13.8%
[ 1Z0j:16.3%
[ 1Z0j:18.3%
[ ] ZOjjj : 3|5.6%

-

|




Number of Events

100

o)
o

_ Pythia_ref
3 Imu+lmu- B Other

— 71 70: 13.8%

1 Z0jj:16.3%
- [ 1Z0j:18.3%
[ ] Z0jjj : 35.6%

O @1 & - |0 O b

S B -5 s ko S
0 200 400 600 800
M(u,j1) (GeV)



Number of Events

100

o)
o

3jlmu+1lmu-

Pythia_ref
B Other

I 70 : 13.8%

] Z0jj : 16.3%
[ ]Z70j:18.3%
] Z0jjj : 35.6%

:Ifli-'|I:||

0 200

'400* 600 300
M(u*,j1) (GeV)



Number of Events

200

150

100

U1
o

3jlmu+1lmu-

Pythia_ref
B Other

60

Bk

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

T

1
.
1
| |-—b—--—lrJ.—|-40—-

*180|

100 120 140
M(u",1) (GeV)



Number of Events

80

60

40

20

_ Pythia_ref
3JImu+1lmu- B Other

1 70: 13.8%
1 Z0jj:16.3%

B [ 1Z0j:18.3%

i | Z0jji : 35.6%

i T

_lg Sran I |T &5 ¢ B | T|
500 1000

M(u*,J1,3) (GeV)




Number of Events

30

20

10

3jlmu+1lmu-

Pythia_ref
B Other

==
E=

gttt

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

[ [ [ [
- — '

]3 @ (radians)




80

60

40

3jlmu+1lmu-

Pythia_ref
B Other
1 70:13.8%
[ 1Z0j:16.3%
[ 1Z0j:18.3%
|1 Z0jjj : 35.6%

Number of Events

—

—

1

al=s 2 e
50 1000

M(u',)1,)3) (GeV)




Number of Events

3jlmu+1lmu-

30

Pythia_ref
B Other
1 70:13.8%
[ 1Z0j:16.3%
[ 1Z0j:18.3%
[ ] |ZOjjj : 35.6%

@

‘

20 Tl
_ iﬁ |
10r }q y
K. F f‘a ﬁl
O | | | | | |




Number of Events

3jlmu+1lmu-

30

Pythia_ref
B Other
1 70:13.8%
[ 1Z0j:16.3%
[ 1Z0j:18.3%
[ ] |ZOjjj : 35.6%

@

‘

20 Tl
_ iﬁ |
10r }q y
K. F f‘a ﬁl
O | | | | | |




Number of Events

40

30

20

10

e Pythia_ref

3jlmu+1mu- B Other

m 1 70:13.8%

I ] Z0j : 16.3%

B [ 12Z0j:18.3%

u 1 20ji:356%
0

A@(1,]3) (radians)




Number of Events

o
o

AN
)

N
)

3jlmu+1lmu-

—

Pythia_ref
B Other
1 70:13.8%
[ 1Z0j:16.3%
[ 1Z0j:18.3%
|1 Z0jjj : 35.6%

B

150



Number of Events

30

20

10

3jlmu+1lmu-

Pythia_ref

B Other

1 70:13.8%
] Z0jj : 16.3%
170 :18.3%

I I I I
T
ﬁ—. ,

I,

:

[ ] Z0jjj : 35.6%

T

.

] L

LU @ (radians)

.
%




Number of Events

_ o Pythia_ref
3JImu+1lmu- B Other

1 70:13.8%

- ] Z0jj: 16.3%

B [ 170j:18.3%
150/~ | (] Z0jjj : 35.6%

- (1
1001~ 1+

BN

50 | wti
I i
O} e AT e ol %l
500 1000

M(u*,,)3) (GeV)



Number of Events

30

N
o

=
o

3jlmu+1lmu-

Pythia_ref
B Other

—

.

I 70 : 13.8%
1 Z0jj : 16.3%
] Z0j:18.3%
1 20jj:35.6%

-

™ ‘

= E—

Oi%

A@(”,j1) (radians)



_ Pythia_ref
3J1mu+1mu- B Other

W
o

N
o

Number of Events
H
o

1 70:13.8%
1 Z0jj:16.3%
[ 12Z0j:18.3%
] Z0jjj : 35.6%

i

Syl it
L --
iy ek

P (GeV)




_ Pythia_ref
3jimu+1mu- B Other

W
o

—

N
o

Number of Events
H
o

—

1 70:13.8%
1 Z0jj:16.3%
[ 12Z0j:18.3%
] Z0jjj : 35.6%

'

—

—————

J— |
R
i

-
pal

-

| |
10 20
clusteredObjectsRecoll P (GeV)




Number of Events

_ Pythia_ref
3Jimu+1lmu- B Other

1 70: 13.8%
1 Z0jj:16.3%
[ 12Z0j:18.3%
1] Z0jjj : 35.6%

h i

30

N
o
I L

=
o

| | | | | | | | | | | | |1
00 0.5 1 1.5
angle(plane(beam,jl),plane(j2,;3)) (radians)




Number of Events

30

N
o

=
o

3jlmu+1lmu-

Pythia_ref
B Other

1 70:13.8%

1 Z0jj:16.3%
[ 12Z0j:18.3%
] Z0jjj : 35.6%

=
Ap(U ,j2) (radians)




Number of Events

N
o

=
o

3jlmu+1lmu-

Pythia_ref
B Other

1 70:13.8%
1 Z0jj:16.3%
[ 12Z0j:18.3%
] 20jj: 35.6%

@

‘1

Ag(u ,j3) (radians)




Number of Events

3jlmu+1lmu-

30

20

Pythia_ref
B Other
1 70:13.8%
[ 12Z0j:16.3%
1 Z0j:18.3%

L] Z0jjj : 35.6%

h—l T | T T 1 | T T 1 | T




Number of Events

3jlmu+1lmu-

30

20

Pythia_ref
B Other
1 70:13.8%
[ 12Z0j:16.3%
1 Z0j:18.3%

L] Z0jjj : 35.6%

h—l T | T T 1 | T T 1 | T




Number of Events

3jlmu+1lmu-

e Pythia_ref
B Other

100~

U1
o

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

o) ) o o | .o . oo

1000
M(j1,i2) (GeV)



Number of Events

_ Pythia_ref
3Jlmu+lmu- B Other
1 70:13.8%
[ 170jj:16.3%
N [ 170j:18.3%
B ) L1 Z0Qjjj : 35.6‘7@

N
o

=
o

A@(”,j2) (radians)



Number of Events

_ e Pythia_ref
3JImu+1lmu- B Other

1 70:13.8%
2 1 Z0jj : 16.3%
} ] 70j:18.3%
- ] Z0jjj : 35.6%
100 .
. Y
. l
. |
so— ||W 1,
n | T
B i
L !
OI_[T | lTI*:*lI:*' | o te, g | e
0 200 400 600 300

M(j1,i3) (GeV)



Number of Events

60

AN
)

N
o

3jlmu+1lmu-

e Pythia_ref
B Other

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

A@(p” W) (radians)




Number of Events

30

20

10

3jlmu+1lmu-

gE==E

Pythia_ref
B Other
1 70:13.8%
[ 1Z0j:16.3%
[ 1Z0j:18.3%
|1 Z0jjj : 35.6%

v ¥

[N

2




Number of Events

30

20

10

3jlmu+1lmu-

Pythia_ref
B Other

gE==E

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

v ¥

[N




Number of Events

3jlmu+1lmu-

30

Pythia_ref
B Other
1 70:13.8%
1 Z0jj:16.3%
[ 12Z0j:18.3%
Dl Z0jjj : 35.6%

| (U5
10 | TH :jﬂ
¥ .
e




Number of Events

30

20

10

3jlmu+1lmu-

]
]
]
[ ]

Pythia_ref
Other

Z0 : 13.8%
Z0jj : 16.3%
Z0j :18.3%
Z0jjj : 35.6%

—

1 I I | [ [ [ [ | [ [ [ [ |

H—
H——
—_—

[N




Number of Events

100

U1
o

3jlmu+1lmu-

.
T T
EEpg= =Ad

e Pythia ref
B Other
1 70:13.8%
[ 1Z0j:16.3%
[ 1Z0j:18.3%
|1 Z0jjj : 35.6%

0 200 400

M(u’,)3) (GeV)




Number of Events

80

60

40

20

3jlmu+1lmu-

Pythia_ref
B Other

I 70 : 13.8%

1 Z0jj : 16.3%
] Z0j:18.3%
] Z0jjj: 35.6%

1000
M(u',)1,)2) (GeV)

Weall
1500



Number of Events

_ e Pythia_ref
3Jlmu+1mu- B Other

1 70:13.8%
- [ 12Z0j:16.3%
L 1270j:18.3%
| ] Z0jjj : 35.6%

100

o)
o

oo Fuert e & o o .

1000

M(u*,u7,)1) (GeV)



Number of Events

100

U1
o

3jlmu+1lmu-

Pythia_ref
B Other

1 70: 13.8%
1 Z0jj:16.3%
[ 1Z0j:18.3%

[ [ ] Z0jjj : 35.6%

0 100

Z pz (GeV)

.
1
1
0

2000



Number of Events

3jlmu+1lmu-

Pythia_ref
B Other

I 70 : 13.8%
] Z0jj : 16.3%
[ ]Z70j:18.3%
L) 20jj: 35.6%

-

oy

‘Ut eta + U eta’




Number of Events

600

400

200

3jlmu+1lmu-

e Pythia_ref
B Other

I 70 : 13.8%

] Z0jj : 16.3%
[ ]Z70j:18.3%
] Z0jjj : 35.6%

uncl P (GeV)




